
BE271−1A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
in the chromaticity diagram (x10, y10)
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BE271−2A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*0,10, B*0,10)
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B0

Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P35
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BE271−3A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*1,10, B*1,10)
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B1

Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P35

47

52
8374 40

36

5

14



BE271−4A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*2,10, B*2,10)
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Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,157, bP1=0,385
n = P35 47
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BE271−5A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*3,10, B*3,10)
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B3

Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−1,344, bD1=0,781
n = P35
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BE271−6A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*4,10, B*4,10)
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B4

Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,157, bP1=0,385
n = P35 47
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BE271−7A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*5,10, B*5,10)
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Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−1,344, bD1=0,781
n = P35
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BE271−8A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*6,10, B*6,10)
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Xw=92,76, Yw=88,58, Zw=46,20
xw=0,4076 yw=0,3892
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−1,344, bD1=0,781
n = P35
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